Calculus
Test #4 Review

MName

Approximate the given integrals usim@ithe specified techuique.

1. Left Endpoint Riemarms Sum
1
a. f (x*+2)dx with 6 subintervals.
-2

2. Right Endpoint Riemann Sum

3
a. f (x® — 3) dx with 3 subintervals.
o

3. Midpiont Riemann Sum
a. f sin(2x) dx with 3 subintervals.
0

4. Trapezoidal Rule

e
a. f xsinx dx With 4 subintervals.
0

Evaluate each of the following integrals.

5.
f (x? - 2)? dx

7. fx x2 —
x*+1
9. | ——d
Jx3+3x+7 x
11./ 2 I
—— (L1
o — 22

13[ o342 gy

Evaluate each definite integral using the First Fundamental Theorem.

3
15. f (3x%2 +x—2)dx
0

~1 .2
x<—-1
17‘[ e dx
—7 X

6
b. f vx + 1 dx with 3 subintervals.
0
. _
b. J (—x? + 10x — 20) dx with 4 subintervals.
3
4’ -
b. f (16 — x?) dx with 6 subintervals.
-2

6
b. f e* — 2 dx with 4 subintervals.

6. x2+2

f x?
8. /l o7 sec{x?) tan2) da
jZ:r +7x——

10. dx

12, f1+cos 8
cost @

14. e’/
x2

16, [ Vu,
s Vu

du

18. ] dx
1Vl -~ x2



19, rp2 | 20, pm/2 2
}f (x— 1IW2 —xdx f sin(éf) dx
1 0

3 VZ ,
21. J lx2 — 4| dx 22. j’ xe ¥ 1% dx
0 ¢

Evaluate the derivative of each of the following using the Second Fundamental Theorem.

X x?
23. i“' Edt} 24 i{f costdt]
dx 1 t dx I
d d[r*
25. o f (=2t —2) df] 26. e [[ 2Vt + 3 dtg
x x

Calculate the average value of the functions on the given intervals.

27.  f(x)=+x+3 [-2, 13] 28. f(x) = sin5x [0, /2]
2. f0) =55 [1,¥3] 0. f=5; [Le

Pictured to the right is the graph of f{). It F(x)= | [{f)dr
6

31. Find the value of F, (0). <

32. Find the value of F{-1/2).

33. Find the value of F'(-2).

34. Find the value of 7°(2.5).

x
Pictured the right is the graph of £. If G{x} = j Fliydt

35. Find the value of G(3).

36. Find the value of G(-4).

37. Find the value of G '(-2). -
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